* EXo.mp\e/‘ NQ«SQP@ ‘rhe, Su.l'(:a'te conczn+na+30n oj' o~ |oc,a‘ reservoir
over q CanO.c,uZ"iue 6«75. ob']'ain o. .So.m':'z mean

o{'\ Mq’-' 6.\ ':.SIL The wvariance is known Yo be
o= 0.8l (/L)

>Ts the concentration .Si\c.sni(:\'canﬂy diffecent from the boseline
conce.n'l'racH on AT o.4 m&/ L &1' o .S;Ijni'P‘CdnCQ. l&vel o‘F 0. 0| 2
One dotaset with known variance = One- Samp|e Z-Test

> Z-stotistic: Z= ‘F‘-(M—&"- = Ja ﬂ_—-_S"_l) = .33
& JO.%|

- = 2F(-1z1) = 2-E(-233), = 0.020
MATLAR normcdf (-2.33)

- 'S.lnC@ 2 X = O'O\ )

» wncevd'ro:\'ion no'l' e,‘zua.'l‘e(l. "



. Example: Measure the sulfite concentration of o local reservoir
over q CanO.cuZ"iue 6&75. ob'l'ain o. .So.m':'z meoan

o{: Mq= 6.1 na/l— om«)k o~ smm[alb vafionce of
\/q‘= 036 (m&/l—)z

5> Ts the cono&n+ra"‘ion .Sam{:iam"‘ly di#enn'} from the baseline
concentrotion p= o.M mJ/L. ot o .si&ni'Ficance level of ©0.057?

One dotasef with wnknown varance = One- Sm,:le T- Test

5> T-statistic ¢+ T= I (M= g = Ja(e.l-54) - 3.50
JV. Jo.3¢
> = 2F,_(IT]) = 2F, (-3.50) = 0.00%

MATLAQ '+c,<\1° (-3.50, 8)

S Since X = 0.05, redeo‘l' the nu.u.

» wncen'l'ro:"i ov) e,|evo~+e¢)~ !



‘ Exo.me\e,= Test oo new blood precsure deu with oo contfrol
group of A7 Po:he.n'\‘): ond.  on azx)perimen'lbu\ Qroup

with 25 Poj' ients. Samrhb mean in the control grovp
1S I"Lﬁg = 2.10 and $o.m'>|¢- mean in  the ex)perimen“'al
5rouf is I'\f;.) = 2.OX. From F(‘ior studies , varisnce

in the control Aroup and experimevd‘a\ qroup are known
Yo be o= 001 ad ;= 002, resFed‘iwly-

> Does the ém\s lower cholesterol o a .s’udn'ﬁwmcz level of 005°?

Two dodasels with known variance = Tiwvo - Samlale— 2 - Test

D _ vk _

2 Statishe: Z = D llo = 210-203 . 3oy
e 4 et ool , 0.02
n, Na X2 A5

> = 2F(-1zD= 2 F(-2.34) = o0

MATLAB normedt (-2.234)

= Since, { ¢ = 0.05, pe()ec,'l' 'Hwe, nuu“.

1)
“c\m& lowers cholesterol



. Exo.me\e,= Test oo new blood press ure dnuﬁ with oo contfrol
3(‘0\:.? O'F 9.7 Po:"ie.n"'s oma. o zx)perimen'l&‘ &(‘o uF

with 25 Poj’ie.n"'s. Sumrle, meann in the control \you?
1S M:(g = .10 o.ml .Sam,:‘e. mean in the ex)per‘imen"'o.l

5rouf s I'\f;.) = A.OX. .Sa.vn‘:lb vafionces N 'H\e con"l'rol

apou'o omcl @x)aerimcn'l‘al GMP are V,,(-',) = 0.3l oand
J :8_-) = 0.28, Pes':ed'iv&l\/ . Variance is 'H.au\.)H' o be ecLua.l.
S Does the :\rud lower cholesterol o o siév\i iconce level of 0.057?

Two dodagets with  unknown, e:tuml variance = Two — Sample T-Test

>Pooled  Sample Variance: &= (r =DV 4+ (n, -V | 26-0.31 + 24-0.28
n, +n, — A > 7 + 25 - &

= 030

MO - M 2.10 - 2.0Xx
AT Stadickic: TF et = ——= = 0.53
GEw)  JooGE®

(-17l1) = 2R, (-o.ss)J = 0,60

M;xTLAB| +df (- 0.53, 50)

S Since > o2 = 0,05,
\\Ar‘ua éoe,s no+ lowem c)\o]ed'ef‘ol "



